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Goal: 1% precision

iy a
Precision = —=

VN

» o of the «” mass distribution, N nb events
» 0 ~ 0.11 for the ®° mass

We need ~120 clean w%cell combinations to
obtain a 1% precision for each cell.

Single t° generation (in progress)

o To test the matrix inversion:

o Use gauss, boole and brunel to generate single ©°

be generated and available to the
collaboration

o Test the method for a 10% initial mis-calibration

o Adjust the coefficient iterative method adjustment

o Test calculation time for coefficient iterative method
adjustment
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Rule for dividing into subjobs




Gauss
Boole
Brunel
DaVinci

# Defing an application objgct

dv = DaVinci(version = 'v12rl15', cmt_user_path ='~/public/cmt’, optsfile = 'myopts.opts’)
# Define a dataset

dataLFN = LHCbDataset(files=[
'LFN:/Ihcb/production/DC04/v2/00980000/DST/Presel 00980000 _00001212.dst",

'LFN:/Ihcb/production/DC04/v2/00980000/DST/Presel _00980000_00001248.dst'])

# Put application, backend, dataset and splitting strategy together in a job

j =Job(application=dv, backend=Dirac(), inputdata=dataLFN, splitter=SplitByFiles())
it your complete analysis to the Grid.
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